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Section : Question related to knowledge of Computers of NIELIT O level

Q.1 Which of the following is/are application layer protocols?
(i) SMTP, (ii) FTP, (iii) UDP

Ans X" 1. 0nly (i) and (iii)
75 2. 0nly (ii) and iii)
o 3. 0nly (i) and (i)
25 4. (i), (ii) and (iii)

Question ID : 9767556342
Status : Answered
Chosen Option : 3

Q.2 Which of the following statements related to 'C' language is/are true?
(i) Pointer is a variable which contains any type of values rather than addresses.
(ii) The size of a character pointer and integer pointer is same.

Ans X" 1. Neither (i) nor (ii)
75 2.Both (i) and (ii)
#< 3.0nly (i)
o 4. only (i)

Question ID : 9767556357
Status : Answered
Chosen Option : 3

Q.3 The arguments used to call a function in 'C' language are called:
Ans X 1. formal arguments

x 2.temporary arguments
« 3. actual arguments

x 4. dummy arguments

Question ID : 9767556358
Status : Answered
Chosen Option : 4
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Q.4 Which of the following characters should appear once and only once in a valid email
id?

Ans X" 1. Ampersand (&)
/X 2.Dollar ($)
o 3. Attherate (@)
/X 4.Hash (#)

Question ID : 9767556343
Status : Answered
Chosen Option : 3

Q.5 Which of the following tags is used to define the document type in HTML?
Ans

< 1. <TYPE>

X 2. <title>

X3 <a>

v + <IDOCTYPE>

Question ID : 9767556347
Status : Answered
Chosen Option : 4

Q.6 Which of the following is NOT a valid IPv4 address?
Ans 5" 1.10.10.10.10

/< 2.100.100.100.100
o 3.255.255.255.256
75 4.200.200.200.200

Question ID : 9767556340
Status : Answered
Chosen Option : 1

Q.7 Which of the following category of ports is also called printer port?
Ans X' 1 VGA port

x 2. Ethernet port
( 3. Parallel port
x 4. Serial port

Question ID : 9767556369
Status : Answered
Chosen Option : 4
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Q.8 What is the address of the third cell in an MS-Excel worksheet, considering cell

numbering in a column-wise order?

Ans X' 1.3C
X 2.c3
W 3.A3
K 4.ci

Question ID : 9767556333
Status : Answered
Chosen Option : 1

Q.9 Which of the following terms can be used to best describe any visual representation
with a combination of audio, video, animation, or graphics?

Ans X 1. Storage media

J 2. Multimedia

x 3.lmage

x 4. Digital media

Question ID : 9767556366
Status : Answered
Chosen Option : 2

Q.10 Which of the following statements related to 'C' language is/are true?
(i) Union is a user-defined data type in 'C' language which can be used to store
different data types into a single variable.
(ii) Only the last entered data can be stored in a union variable.

Ans 2" 1. 0nly (i)
o 2. Both (i) and (ii)
75 3.0nly (i)
75 4. Neither (i) nor (ii)

Question ID : 9767556360
Status : Answered
Chosen Option : 2

Q.11 Which of the following function keys can be used to open 'Save As' dialogue box in

MS-Word?

Ans X" 1 F6
K2R
/X 3.F3
W 4F12

Question ID : 9767556331
Status : Answered
Chosen Option : 4
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Q.12 Which of the following symbols is used to define absolute address in an MS-Excel
formula?

Ans x1.=

Question ID : 9767556332
Status : Answered
Chosen Option : 1

Q.13 Which of the following is commonly used to assess network reachability?

Ans J 1. Ping
K 2 FTP
x 3. Telnet

75 4. Chkdsk

Question ID : 9767556371
Status : Answered
Chosen Option : 1

Q.14 Which of the following is NOT a valid function of the Operating System?
Ans x 1. File management

x 2. Process management
J 3. Website management

x 4. CPU scheduling

Question ID : 9767556326
Status : Answered
Chosen Option : 3

Q.15 Which of the following statements is/are false?
(i) Each column in a relational database table is called attribute.
(ii) Oracle Database is a well-known example of a relational database management
system.

Ans  off 1. Neither (i) nor (ii)
#< 2.0nly (i)
75 3.0nly (i)
#< 4.Both (i) and (i)

Question ID : 9767556338
Status : Answered
Chosen Option : 1
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Q.16 Which of the following protocols is connection-oriented?

(i) TCP, (i) UDP
Ans X" 1. Neither (i) nor (ii)
75 2. Both (i) and (i)
o 3.0nly ()
< 4. 0nly (ii)

Question ID : 9767556341
Status : Answered
Chosen Option : 2

Q.17 Consider the following array declarationin'C':

intB[4]=(1, 2, 3};

What will be the initial value of the fourth cell of array B?

Ans X1.2
X 2.3
W30

x 4. Garbage

Question ID : 9767556355
Status : Answered
Chosen Option : 2

Q.18 InC#,youneedtouse ________

dimensional array.
Ans x 1. parenthesis (())

J 2. square brackets ([])
X 3. curly brackets ({})
x 4. angle bracket (<>)

after the data type to create a single

Question ID : 9767556363
Status : Answered
Chosen Option : 2

Q.19 CPU picks a process for execution from which of the following process queues?

Ans " 1 Blocked queue
( 2. Ready queue
x 3. Running queue

x 4. Waiting queue

Question ID : 9767556328
Status : Answered
Chosen Option : 3
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Q.20 Which of the following keyboard shortcuts can be used to perform 'Undo’ operation
in MS-PowerPoint?

Ans X1 Ctrl+ Y

X 2.ctil+ U
X 3.At+U
o 4.cri+z

Question ID : 9767556336
Status : Answered
Chosen Option : 4

Q.21 Which of the following is NOT a valid keyword in 'C' language?
Ans X" 1 Return

( 2. Dynamic

x 3. Unsigned

75 4.Signed

Question ID : 9767556353
Status : Answered
Chosen Option : 3

Q.22 Which of the following statements is/are true?
(i) Double quotes around attribute values are the most common in HTML, but single
quotes can also be used.

(ii) The 'href' attribute of <a> tag specifies the URL of the page the link goes to.
(i) The 'src' attribute of <img> provides an alternate text for an image.

Ans o 1. 0nly (i) and (i)
75 2. 0nly (i) and (iii)
75 3.0nly (ii) and (iii)
25 4. (i), (i) and (iii)

Question ID : 9767556349
Status : Answered
Chosen Option : 4

Q.23 The sound used in multimedia applications is:

Ans x 1. Analog as well as digital audio
X 2. analog audio
x 3.virtual audio

( 4. digital audio

Question ID : 9767556367
Status : Answered
Chosen Option : 1
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Q.24 Which of the given options best describes the truthfulness of the following
statements?
(i) ASP.NET is built on the Common Language Runtime (CLR).
(ii) ASP.NET can be used to create dynamic web pages.

Ans X 1.()- True, (ii) - False
X 2.()-False, (ii) - False
J 3.(i)- True, (i) - True
X 4.()-False, (i) - True

Question ID : 9767556364
Status : Answered
Chosen Option : 1

Q.25 What is the value of the following MS-Excel function?
=CEILING(23,5)

Ans X" 1.20
K222
/X 3.24
W 425

Question ID : 9767556334
Status : Answered
Chosen Option : 2

Q.26 Which of the following is the fastest memoryin terms of its accessing speed?
Ans X 1 DRAM

J 2. Cache memory
/< 3.CDROM
x 4. Hard disk

Question ID : 9767556323
Status : Answered
Chosen Option : 2

Q.27 In MS-Word 2016, 'Open’, 'Print’, and 'Save As' options are available under which of
the following menu items?

Ans X 1. Insert
75 2. view
o 3.File
x 4.Home

Question ID : 9767556330
Status : Answered
Chosen Option : 3
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Q.28 Which of the following utilities is used to determine the MAC address associated
with a particular IP address?

Ans X 1.Ping
o 2. ARP
75 3. Netstat
/X 4. Tracert

Question ID : 9767556370
Status : Answered
Chosen Option : 3

Q.29 Which of the following is NOT a valid characteristic of an algorithm?
Ans ( 1. Redundancy

x 2. Output
x 3. Input

x 4. Finiteness

Question ID : 9767556351
Status : Answered
Chosen Option : 2

Q.30 Which of the following is a rigid magnetic disc that is used to store data
permanently?

Ans X 1 SRAM
X 2. Cache memory
/5 3.DRAM
o 4. Hard disk

Question ID : 9767556324
Status : Answered
Chosen Option : 4

Q.31 Which of the following versions of MS-Word is the predecessor of MS-Word 2016?
Ans o 1 MS-Word 2013

75 2. Ms-Word 2007
/X 3.Ms-Word 2015
75 4.Ms-Word 2014

Question ID : 9767556329
Status : Answered
Chosen Option : 1
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Q.32 Which of the following is NOT a CPU register?
Ans o 1. CPU clock

x 2. Instruction register
x 3. Accumulator

x 4. Program counter

Question ID : 9767556325
Status : Answered
Chosen Option : 4

Q.33 Which of the following 'C' data types requires largest memory space?
Ans J 1. double

X 2.int
X 3. float
x 4. char

Question ID : 9767556354
Status : Answered
Chosen Option : 1

Q.34 Which of the following can be used to create subscript text in HTML?
Ans x 1.

v 2

~ 3

F

Question ID : 9767556348
Status : Answered
Chosen Option : 2

Q.35 In C#, array index starts from:
Ans X1 -1

W20

X 31

/X 4.100

Question ID : 9767556361
Status : Answered
Chosen Option : 2
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Q.36 Which of the following can be used to open the clear browsing data window in
Chrome to quickly clear private data?

Ans X' 1 Esc
x 2. Del

of 3. Ctrl + Shift + Del
x 4. Ctrl + Del

Question ID : 9767556346
Status : Answered
Chosen Option : 3

Q.37 If acomplete mesh topology network has 10 nodes, then what will be the total
number of links in the network?

Ans X155
o 2.45
X 310
/X 4.100

Question ID : 9767556372
Status : Answered
Chosen Option : 4

Q.38 Which of the following is NOT a valid identifier in 'C'?
Ans X" 1. DateOfBirth

X 2. Numeric8
( 3. First-Name

x 4. LastName

Question ID : 9767556352
Status : Answered
Chosen Option : 3

Q.39 Which of the following is NOT a valid class of an IPv4 address?

Ans X1 A
r
X 3.c
X 4.8

Question ID : 9767556339
Status : Answered
Chosen Option : 2
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Q.40 The FCL is a standard library in .NET framework and it consists of thousands of
classes. What is the full-form of FCL?

Ans J 1. Framework Class Library
x 2. Framework Class Lab
x 3. Fixed Class Library
x 4. Fixed Class Lab

Question ID : 9767556362
Status : Answered
Chosen Option : 1

Q.41 Which of the given options best describes the truthfulness of the following
statements?
(i) MPEG-4 is an audio and video compression standard.
(i) MP3 is a compression method that utilises the MPEG standard to reduce the
audio file size.

Ans X" 1. (i)-False, (ii) - True
x 2. (i) - True, (i) - False
o 3.()- True, (ii)- True
x 4. (i) - False, (i) - False

Question ID : 9767556368
Status : Answered
Chosen Option : 2

Q.42 Which of the following is NOT a valid HTML formatting element?

Ans J 1.

Question ID : 9767556350
Status : Answered
Chosen Option : 1

Q.43 What is the keyboard shortcut to reset Chrome browser zoom to default?
Ans X1 Ctrl+9

X 2.ctr+ 1
X 3. AIt+0
o 4.cui+o

Question ID : 9767556345
Status : Answered
Chosen Option : 4
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Q.44 What is the default value of a'static' local integer variable in 'C'?

Ans  of 10
x 2. Infinity
X 3.1

x 4. Garbage

Question ID : 9767556359
Status : Answered
Chosen Option : 4

Q.45 Which of the following types of operating system executes jobs in a particular
sequence decided by the operator?

Ans x 1. Multitasking operating system
x 2. Multi-user operating system
x 3. Multiprogramming operating system

J 4. Batch processing operating system

Question ID : 9767556327
Status : Answered
Chosen Option : 4

Q.46 Which of the following is NOT a valid database operation?
Ans x 1. Deleting a tuple from a database table

x 2. Inserting a tuple in a database table
x 3. Dropping a database table

( 4. Formatting the hard disk

Question ID : 9767556337
Status : Answered
Chosen Option : 4

Q.47 WMV is a compressed video file format developed by Microsoft. What does the
term WMV mean?

Ans x 1. Wide Media Video
x 2. Wide Media Variety
J 3. Windows Media Video

x 4. Windows Media Variety

Question ID : 9767556365
Status : Answered
Chosen Option : 3
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Q.48 What are the default file extensions of the presentation slides created in MS-
PowerPoint 2016

Ans x 1. .ppxt
X 2. ppt
o 3. pptx
75 4. pptm

Question ID : 9767556335
Status : Answered
Chosen Option : 3

Q.49 Which of the following fields is used to ensure that all recipients do NOT see the
other recipients of the email?

Ans X' 1.cC
o 2.BCC
x 3. Subject

X 4.To

Question ID : 9767556344
Status : Answered
Chosen Option : 2

Q.50 Consider the following array declaration:
int C[] = "ANNUAL EXAM";
What will be the content of C[11]?

Ans x1'A

x 2. Newline character

J 3. Null character

X 4am

Question ID : 9767556356
Status : Answered
Chosen Option : 3

Section : General Study

Q.1 In which year did India embark on a programme of economic reforms that sought
increasingly to de-regulat e various sectors including trade and foreign investment?

Ans X' 1.1993
X 2.1994
o 3.1991
X 4.1995

Question ID : 9767556385
Status : Answered
Chosen Option : 2
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Q.2 In which state are wedding ceremonies referred to as ‘Biya’ in the native language?
Ans ( 1. Assam

x 2. Manipur
x 3. Meghalaya
x 4. Arunachal Pradesh

Question ID : 9767556373
Status : Answered
Chosen Option : 2

Q.3 Who advised Mahat ma Gandhito spend a year travelling around British India, getting
to know the land and its peoples?

Ans X" 1 Lala Lajpat Rai
x 2. Jawahar Lal Nehru
( 3. Gopal Krishna Gokhale

x 4. Bipin Chandra Pal

Question ID : 9767556384
Status : Answered
Chosen Option : 3

Q.4 In which of the following places is the office of the Survey of India located?
Ans x 1. Mysuru

75 2.New Delhi

x 3. Kolkata

J 4. Dehradun

Question ID : 9767556379
Status : Answered
Chosen Option : 2

Q.5 Into how many groups have the soils of India been classified on the basis of genesis,
colour, composition and location?

Ans  of 18
X 2.6
X 3.5
K 47

Question ID : 9767556380
Status : Answered
Chosen Option : 2
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Q.6 Which of the following solutions is called brine?

Ans x 1. Solution of sodium bicarbonate
J 2. Solution of sodium chloride
x 3. Solution of sodium carbonate

x 4. Solution of sodium hydroxide

Question ID : 9767556376
Status : Answered
Chosen Option : 1

Q.7 Articles 12to 35 contained in Part Ill of the Indian Constitution deal with

Ans X" 1. the High Courts in the states
J 2. Fundamental Rights
x 3. the State Legislature

x 4.the Parliament

Question ID : 9767556388
Status : Answered
Chosen Option : 2

Q.8 Which of the following is associated with badminton?
Ans x 1. Rovers Cup

x 2. Durand Cup
J 3. Uber Cup
x 4. Davis Cup

Question ID : 9767556392
Status : Answered
Chosen Option : 1

Q.9 Who among the following was asked to remove corruption in company
administration but he was himself cross-examined in 1772 by the British Parliament,
which was suspicious of his vast wealth?

Ans J 1. Robert Clive
X 2. Lord Dalhousie
x 3. Warren Hastings

#< 4. William Pitt

Question ID : 9767556382
Status : Answered
Chosen Option : 3
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Q.10 How many lanes are there in an Olympic swimming pool?

Ans X' 1.9
K212
X 3.8
W 410

Question ID : 9767556391
Status : Answered
Chosen Option : 1

Q.11 Which of the following is the correct reactivity series?

Ans J 1. Zinc > Iron > Lead > Copper
x 2. Copper > Zinc > Lead > Iron
X 3. Iron > Lead > Copper > Zinc

x 4.1ron > Lead > Zinc > Copper

Question ID : 9767556377
Status : Answered
Chosen Option : 4

Q.12 Acurrent of 0.8 Ais drawn by a filament of an electric bulb for 6 minutes. Find the
amount of electric charge that flows through the circuit?

Ans o 1 283¢C

/X 2.750¢C
/X 3.288¢C
/X 4.048cC

Question ID : 9767556378
Status : Answered
Chosen Option : 1

Q.13 After which war did the East India Company appoint residents in Indian states?
Ans X" 1 Third battle of Panipat

x 2. Battle of Plassey
J 3. Battle of Buxar

x 4. Battle of Khanwa

Question ID : 9767556383
Status : Answered
Chosen Option : 2
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Q.14 How many yellow cards will equal one red card in football?

Ans X 1.5
22
X 3.3
X 44

Question ID : 9767556390
Status : Answered
Chosen Option : 3

Q.15 Which of the following was founded in 1995 as the successor organisation to the
General Agreement on Trade and Tariff (GATT)?

Ans ( 1. World Trade Organisation
x 2. International Trade Organisation
x 3. World Customs Organisation

x 4. International Trade Centre

Question ID : 9767556386
Status : Answered
Chosen Option : 1

Q.16 Who among the following is a reputed dancer and choreographer of Bharatnatyam?
Ans x 1. Sonal Mansingh

J 2. Rukmini Devi Arundale
x 3. Mallika Sarabhai

x 4. Yamini Krishnamurthy

Question ID : 9767556374
Status : Answered
Chosen Option : 2

Q.17 In the Indian Constitution, the laws governing our Supreme Court and the concept
of “procedure established by Law” were adopted from the Constitution of

Ans X" 1 France

X 2. the United States of America

J 3. Japan

x 4. Germany

Question ID : 9767556389
Status : Answered
Chosen Option : 2
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Q.18 Which part in the Indian Constitution states about the President and Vice President
of India?

Ans " 1. Part Xl

o 2 Partv
75 3. Part VI
/X 4. PartIX

Question ID : 9767556387
Status : Answered
Chosen Option : 4

Q.19 Tooth decay starts when the pH of the mouth is lower than _____.

Ans  of 155
/< 2.59
X 365
X 462

Question ID : 9767556375
Status : Answered
Chosen Option : 1

Q.20 Who among the following discussed the possibility of convection currents
operating in the mantle portion in the 1930s?

Ans J 1. Arthur Holmes
X 2. Abraham Ortelius
x 3. Alfred Wegener

x 4. Antonio Pellegrini

Question ID : 9767556381
Status : Answered
Chosen Option : 2

Section : Reasoning

Q.1 Select the correct mirror image of the word CHAPTER from the given options.

Ans (1

Question ID : 9767556427
Status : Answered
Chosen Option : 1
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Q.2 Select the correct water image of the word NOSE from the given options.

Ans  of 1
< 2
X 3
F

Question ID : 9767556426
Status : Answered
Chosen Option : 1

Q.3 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.
RPN :IKM :: YWU : ?

Ans X 1.CDF

/X 2.CEG
o 3.80F
/X 4.ADG

Question ID : 9767556397
Status : Answered
Chosen Option : 3

Q.4 Inacode language, STAGE is coded as 29574 and MORAL is coded 81653. How will
SMART be coded in that language?

Ans X" 1 25896

X 2.28596
o 3.28569
/X 4.25869

Question ID : 9767556405
Status : Answered
Chosen Option : 3

Q.5 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.
LPAY :NSED :: OWNG : ?

Ans X' 1. PZRL

o 2.QzrL
/X 3.pPvaL
75 4.QyPL

Question ID : 9767556398
Status : Answered
Chosen Option : 2
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Q.6 Select the number that can replace the question mark (?) in the given series.
360, 440, 528, 624, ?

Ans X' 1.783

X 2.675
o 3.728
/X 4.576

Question ID : 9767556409
Status : Answered
Chosen Option : 3

Q.7 Select the number that can replace the question mark (?) in the given series.
8,4,6,15,?

Ans X' 1525

/X 2.236.25
/X 3.435
of 4525

Question ID : 9767556410
Status : Answered
Chosen Option : 4

Q.8 If Saturnis called Galaxy, Galaxy is called Star, Star is called Mercury, Mercury is
called Venus, Venus is called Mars, and Mars is called Earth, then which planet is
closest to the Sun?

Ans x 1. Mars

x 2. Earth
J 3. Venus

x 4. Mercury

Question ID : 9767556403
Status : Answered
Chosen Option : 2

Q.9 Select the letter-cluster that can replace the question mark (?) in the given series.
PRTUW, RTUWP, TUWPR, UWPRT, ?

Ans  of 1 WPRTU
75 2. TUWRP
/< 3.WRTUP
/X 4. TWPRU

Question ID : 9767556393
Status : Answered
Chosen Option : 1
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Q.10 If '+' means '+','-' means ', '+' means '-', and 'x' means '+', then the value of
+91x13 + 13 is:

Ans  of 1110
X 2.124
75 3.69
X 4121

Question ID : 9767556420
Status : Answered
Chosen Option : 1

Q.11 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.
AEIO : HBNJ :: CGKQ : ?

Ans X' 1 JCPK
W 2. JoPL
/X 3.JcOM
/5 4.JDON

Question ID : 9767556400
Status : Answered
Chosen Option : 2

Q.12 Select the option that is related to the third number in the same way as the second
number is related to the first number.
65:117::115:?

Ans X' 1 184
W 2.207
/X 3.216
/< 4161

Question ID : 9767556411
Status : Answered
Chosen Option : 2

Q.13 In certain code language, CLUSTER is written as IVGHFOX. How will RAINBOW be
written in that language?

Ans  of 1 DLYMRZI
75 2.IDZRLYM
/5 3.LDMYRIZ

75 4. ZIMRLYD

Question ID : 9767556404
Status : Answered
Chosen Option : 1
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Q.14 Select the letter-cluster that can replace the question mark (?) in the given series.
WDU, SFR, OHO, KJL, ?

Ans X 1.GNI
/X 2.GLH
W 3.6l
/5 4.GNH

Question ID : 9767556394
Status : Answered
Chosen Option : 3

Q.15 Select the alphanumeric-cluster that can replace the question mark (?) in the given
series.
Y1A, W5B, S21D, M56D, ?

Ans X' 1 E138K
X 2.F1219
o 3.E121K
/X 4.F106J

Question ID : 9767556396
Status : Answered
Chosen Option : 3

Q.16 Four numbers are given, out of which three are similar in some manner. Find the
number that does NOT belong to the group.

Ans X' 1263

W 2143
/X 3.284
X 4122

Question ID : 9767556414
Status : Answered
Chosen Option : 2

Q.17 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.
COSK:AKTH :: PURG :?

Ans  of 1 NQSD
#< 2.NPSD
/5 3.MPsC
75 4.Masc

Question ID : 9767556399
Status : Answered
Chosen Option : 1
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Q.18 Which of the following diagrams represents the best relationship among the given
classes?
Bajra, Maize, Kharif crop

Ans X1-
X2
v &)
p

Question ID : 9767556432
Status : Answered
Chosen Option : 4

Q.19 Select the set of numbers from the four options that follows a similar pattern as
the given set.
Given set: (17, 136, 255)

Ans X" 1.(97,214,330)
75 2.(23,141,261)
o 3.(59,178,297)
75 4.(73,192,315)

Question ID : 9767556417
Status : Answered
Chosen Option : 3

Q.20 Select the option that shows a meaningful sequence of the given words.
1. Karnataka
2. World
3. Bijapur
4. Asia
5. India

Ans X' 1.54,3,1,2
/X 2.2,3,54,1
331542
/X 4.4,2,53,1

Question ID : 9767556401
Status : Answered
Chosen Option : 3

Q.21 Inthe given equation, two signs and two numbers need to be interchanged to make
it logically correct. Select the correct option.
10+ 18x4 -5+ 6=27

Ans x 1.—and+,10and 6
Xz.xand+,4and5
J3.+ and +, 18 and 5

X4.xand+,10and4

Question ID : 9767556421
Status : Answered
Chosen Option : 3
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Q.22 U@ V' means 'Uis the father of V',
'U$ V' means 'Uis the sister of V',
'U+ V' means 'Uis the daughter of V'.
If'L+MSN@T', thenhowis Lrelatedto T?

Ans X" 1 Uncle

J 2. Cousin
x 3. Aunt
x 4. Brother

Question ID : 9767556408
Status : Answered
Chosen Option : 2

Q.23 Four positions of the same cube are shown. What should be the letter opposite to
the letter R, when the cube is in the position as shown in figure (i)?

Ans X 1T
2w
X 3R
X 4B

Question ID : 9767556429
Status : Answered
Chosen Option : 2

Q.24 If T =40 and TOY = 120, then BRAIN will be equal to:

Ans X" 1.176
/< 2.184
o 388
p

Question ID : 9767556406
Status : Answered
Chosen Option : 3
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Q.25 Select the letter-cluster that can replace the question mark (?) in the given series.
KM, JKM, JKMP, IUKMP, ?

Ans X" 1 JUKMPT
/X 2.1JKMPQ
o 3.1UKVPS

/X 4. 1UKMPR

Question ID : 9767556395
Status : Answered
Chosen Option : 3

Q.26 Select the figure that will come next in the following figure series.

Ans  of 1
< 2
X 3
F

Question ID : 9767556423
Status : Answered
Chosen Option : 1

Q.27 Select the figure that will come next in the following figure series.

Ans x1~

Question ID : 9767556422
Status : Answered
Chosen Option : 2

Q.28 How many triangles are there in the given figure?

Ans X116
K 2.10
312
5 44

Question ID : 9767556425
Status : Answered
Chosen Option : 3
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Q.29 Four numbers are given, out of which three are similar in some manner. Find the
number that does NOT belong to the group.

Ans X' 18415

X 2.8673
of 3595
X 4.6753

Question ID : 9767556415
Status : Answered
Chosen Option : 3

Q.30 Select the option that is related to the third number in the same way as the second
number is related to the first number.
72:14::86:?

Ans X1 68
W 248
/X 3.24
/X 4.43

Question ID : 9767556412
Status : Answered
Chosen Option : 2

Q.31 Which of the following diagrams represents the best relationship among the given
classes?
Ten thousand, Thousand, Hundred

Ans x1.

Question ID : 9767556430
Status : Answered
Chosen Option : 4

Q.32 If Ameans '+', P means 'x', B means '-', and Q means '+', then the value of the
expression8P5A42Q7B4is:

Ans X1 56
/< 2.54
W 342
75 484

Question ID : 9767556419
Status : Answered
Chosen Option : 3
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Q.33 If Hair is called Paper, Paper is called Tree, Tree is called Shampoo, Shampoo is
called Foam, Foam is called Pink, and Pink is called Orange, then what is used for
washing Hair?

Ans J 1. Foam

75 2. Pink
X 3. Orange

X 4. Shampoo

Question ID : 9767556402
Status : Answered
Chosen Option : 1

Q.34 Select the option that is related to the third number in the same way as the second
number is related to the first number.
18:121:26:?

Ans X' 1361
< 2.289
/X 3.256
o 4225

Question ID : 9767556413
Status : Answered
Chosen Option : 4

Q.35 Select the option that is related to the third figure in the same way as the second
figure is related to the first figure.

Ans XL

Question ID : 9767556424
Status : Answered
Chosen Option : 2

Q.36 P+ Q' means 'Pis the son of Q',
'P # Q' means 'P is the brother of Q',
'P x Q"' means 'P is the wife of Q',
'P - Q' means 'P is the husband of Q'.
If'AxB+C#D-E',thenhowis Arelated to E?

Ans X" 1. Mother-in-law

x 2. Cousin
x 3. Sister

J 4. Daughter-in-law

Question ID : 9767556407
Status : Answered
Chosen Option : 4
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Q.37 Select the set of numbers from the four options that follows a similar pattern as
the given set.
Given set: (71, 96, 23)

Ans o 1 (111,148,37)
75 2.(143,180, 83)
/< 3.(103,126, 61)
/X 4.(97,132,29)

Question ID : 9767556416
Status : Answered
Chosen Option : 4

Q.38 Select the set of numbers from the four options that follows a similar pattern as
the given set.
Given set: (24, 36, 54)

Ans X" 1. (66,99, 148)
75 2.(110, 164, 246)
o 3.(84,128,189)
75 4.(40, 60, 90)

Question ID : 9767556418
Status : Answered
Chosen Option : 4

Q.39 Which of the following diagrams represents the best relationship among the given
classes?
Metal, Aluminum, Magnesium

Ans X1
v 2
X 3
< 4

Question ID : 9767556431
Status : Answered
Chosen Option : 2

Q.40 Two positions of the same dice are shown. When number 5 is on the top, then which
number will be at the bottom?

Ans x172
< 2.3
X 3.4
W6

Question ID : 9767556428
Status : Answered
Chosen Option : 4

Section : General Hindi
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Q.1 wifr fa &1 @ Gt w=a &1 1 fAsrarera @ -

Ans X 1. S ohfa e B, IEhT G 3fasd g IR
/X 2. Ml 3R ufdig i a1 g @it &) s ARyl
J3.a°r25%aﬁzﬁfﬁugm§, IYRTGHE gl R E1
X 4. el &R w1 g ot &) sz ARy

Question ID : 9767556475
Status : Answered
Chosen Option : 3

Q.2 a7 & eger Wi A SIrarn arey d ar=a 1 e @ -
Ans X' 1 gudfdrar

/X 2. wdare
/X 3. wdare

of 4 smEEr

Question ID : 9767556485
Status : Answered
Chosen Option : 1

Q.3 ard &t A 371 - & forg = geTarT & -
Ans (1.%Tvrammgaﬁa=n

/X 2. dF &Re g

2% 3. o g foi g

p R GiEie)

Question ID : 9767556467
Status : Answered
Chosen Option : 1

Q.4 weaageaa & ug<h gar g -
Ans (1_@11

X 2. us®
75 3. e

P R

Question ID : 9767556480
Status : Answered
Chosen Option : 4
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Q.5 ‘SieTSl - STeE 20g i & Hat 31 Wg 1 99+ Riforg-

Ans X 1. §red - wEe
X 2. % - s
o 3 e - T
/X 4. e @ - Sl

Question ID : 9767556460
Status : Answered
Chosen Option : 3

Q.6 ‘#IT &1 gafgar g -
Ans X' 1 afem

X 2.

X 3. Frpe

W 2 o

Question ID : 9767556455
Status : Answered
Chosen Option : 4

Q.7 Hfga agiufa w@fz ey dfzr d = @1 srdpR &2
Ans X" 1 3ater SR

/X 2. AT SR

75 3. 3um IEHR

J4. SIUTY 3eAh R

Question ID : 9767556453
Status : Answered
Chosen Option : 4

Q.8 famfafEa & @ wta a1 aga U= 8?7
Ans XT%@ﬁ

o 2 7=

X 3aw

X 4.

Question ID : 9767556470
Status : Answered
Chosen Option : 3
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Q.9 uIhT &Y gfY & YaH 3T Uehe A aTet A HgdTd & -
Ans X 1. feim giee

X 2. gmae

/X 3. sraee e

o 4. T o

Question ID : 9767556465
Status : Answered
Chosen Option : 4

Q.10 ‘ITA T A @ranl’ ¥@ifehd TdTH AT W § -
Ans X" 1. 3 qvaTas qdAH
/X 2. 3am qevarad FdH
(3.Hﬁmmmﬂéﬁm
/X 4. Gdwaraes g™

Question ID : 9767556444
Status : Answered
Chosen Option : 4

Q.11 TS & foFtg QI FH AT A gfA FT W @ -
Ans  off 1 HurETfa g

/X 2. smEmefes Ry
XS.aTmaTqaaﬁqf%r
X 4. migEe g

Question ID : 9767556483
Status : Answered
Chosen Option : 1

Q.12 fa=faf@a 7 @ w9 ar a= Sifemn g?
Ans X" 1 e

X 2.7

o 3. suaf

/X 4. e

Question ID : 9767556478
Status : Answered
Chosen Option : 3
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Q.13 fa=fafaa & @ w17 ar srdfacy o= 87
Ans  of 1 T

X 2. %

X 3.sfm

X 4. m

Question ID : 9767556469
Status : Answered
Chosen Option : 4

Q.14 3fa farra g arem areg = @1 82
Ans X1 grET@EIR A

X 2. qu amare

s EmaR P

X 4.qu @ -ag 7

Question ID : 9767556486
Status : Answered
Chosen Option : 3

Q.15 “AHAT A= & AT T UGT UG §IAHT 82
Ans XW

75 2.

/< 3.

W 23w

Question ID : 9767556441
Status : Answered
Chosen Option : 4

Q.16 UgUeRIR &1 FATH fourg @ -
Ans X1 JUHR S T

o 2 SR & oy
75 3. IUHR YA G
X 4.3uaR Y e

Question ID : 9767556437
Status : Answered
Chosen Option : 2
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Q.17 fora gara & 9+t ug gur= gid &2
Ans  of 1 ZzEE

X 2. aE

/X 3. agey T

X 4. wduRE gEE

Question ID : 9767556438
Status : Answered
Chosen Option : 1

Q.18 TGS AT, Ugl AR areral & sia # fore foarma fRrg a1 vt o smmam 82
Ans o 1 Rromfate fg

/X 2.t Rig

75 3. e Rg &

/X 4. ot e Rig a1

Question ID : 9767556488
Status : Answered
Chosen Option : 1

Q.19 fore awg & a3t orsg aga &?
Ans X" 1 S, o, war

o 2. o R, &

75 3. 3, TweT, g

X 4. &R, TR, I

Question ID : 9767556471
Status : Answered
Chosen Option : 3

Q.20 f=fafaa § @ &)= a7 darst e @2
Ans X" 1 gufie
o 2 ffm

75 3. amhER
X 4. 3T

Question ID : 9767556472
Status : Answered
Chosen Option : 2
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Q.21 ‘Hgiaa A W= @ -
Ans X" 1. s €@fy
X 2. gurEy
75 3. adaf
VR L

Question ID : 9767556433
Status : Answered
Chosen Option : 3

Q.22 ‘wiate? &1 guTATS U g -
Ans X' 1 wEE

o 2. o
75 3.Ra
X 4.dR

Question ID : 9767556466
Status : Answered
Chosen Option : 2

Q.23 TFAT T TOT, =T, TquTa 3% o fastwor & @fara gid &2
Ans X" 1. gRETomETees Ristyor

/X 2. TR Rsor
75 3. degmarae RAdvor
o 4 o g

Question ID : 9767556446
Status : Answered
Chosen Option : 2

Q.24 ‘Sit E@= F forg &rar @ arerien & forg o e @ -
Ans X" 1 frigar

o 2. Brmesf

75 3. iy

X 4. g

Question ID : 9767556463
Status : Answered
Chosen Option : 2
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Q.25 forg arera & TYROT 1Y A8t arerat st A7 TalSiah raual ZIRT 4T 8, S T hgd 82
Ans o 1 T aE

X 2. = g

/X 3. Ry am

/X 4. Remare ae

Question ID : 9767556477
Status : Answered
Chosen Option : 4

Q.26 JTIEAEIA & FIRUT a8 e § T 7 g Gl | 1 HY<h a1 & -
Ans X" 1 gg udier & quhel 7 8 Weh1, Hifeh a8 SR ol

/X 2. 98 R U1 31@: udien § qohe A g1 Tl

/X 3. 98 srawy U1 3T ROT A der & Tohe 7 g1 bl

W 4. 7% s o A wlen § wwe 7 g wa T

Question ID : 9767556476
Status : Answered
Chosen Option : 4

Q.27 U AE & Uah @ 1Y% o1 forg srviane A gia &2
Ans 11.51@&34?1?51?

X 2. % U AeHR
75 3. 3er siBR

/X 4. 3uHT SRR

Question ID : 9767556454
Status : Answered
Chosen Option : 4

Q.28 ‘Aer # AR G2 @S &I’ At | vk faRiwor @ -
Ans  off 1. temaTaE fshor

/X 2. e RAkor

75 3. uRemomaTee fistor

/X 4. TR Rsor

Question ID : 9767556448
Status : Answered
Chosen Option : 1
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Q.29 ggAdRSmAE, ________ g1 1| R Ture & forg Raifera =g @1 e faeitw usg sifew)
Ans J 1 FRR

X 2. R

X 3.

PR s

Question ID : 9767556459
Status : Answered
Chosen Option : 1

Q.30 ‘g’ ereg | vRgh IUHT Ia13I
Ans X1 gy

X 2.

X35

V&S

Question ID : 9767556439
Status : Answered
Chosen Option : 1

Q.31 ‘qHA AT g1’ ATy F YAhIA T W & -
Ans o 1 dfem e

X 2. g @

75 3. ool sydenTer

/X 4. ol g

Question ID : 9767556482
Status : Answered
Chosen Option : 1

Q.32 &t a1 gt & s1fde urqgsi & A« @ g fBraT ) o= Fed &2
Ans X" 1 wehvieh R

75 2. Amerg

o 3.5 e

75 4. DRomefs B

Question ID : 9767556449
Status : Answered
Chosen Option : 3
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Q.33 gl TSI HIST gl ] Aeft — AaRifh o1 37 g -
Ans X 1. 5gd Teroe geh T a1 8

/X 2.9 3R anfR & cany g

25 3. 7T IS T 3T g

of 4. 3= 3R TreRoT Y e e

Question ID : 9767556468
Status : Answered
Chosen Option : 4

Q.34 fa=faf@a 7 @ = ar feraft s 82
Ans K" 1 offr
o 2 @i

75 3@
X 4. ime

Question ID : 9767556473
Status : Answered
Chosen Option : 2

Q.35 ‘STrETY 1 Sy farde @ -
Ans X' 1 SE + ST

X 2.5 + AT

o 3 s+ A

X 4w+ ATy

Question ID : 9767556434
Status : Answered
Chosen Option : 3

Q.36 fa=fafia 7 @ fora area 9 ggwr sgRur fRig e 82
Ans X' 1 gnReeh A &
o 2. SR v A @t “ftaw Ry A aufid 1
75 3. ae’ Yee &1 uRig w2l
/X 4.6 e gA Ty A2

Question ID : 9767556487
Status : Answered
Chosen Option : 2
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Q.37 forar & gft a3 9ATE g 1 o1 Aty foRe uar @ glar 82
Ans X 1. aRWETIdeh uel

o 2. goiareaiae e

/X 3wl ue

X 4. Rraarue

Question ID : 9767556484
Status : Answered
Chosen Option : 2

Q.38 fm=fafEa & @ st ar vafaard o @ g 56 -
Ans X" 1. TR, ST, A

/X 2. e, gen, sma
o 3. 7, T,

X 4R, T, gE

Question ID : 9767556456
Status : Answered
Chosen Option : 3

Q.39 fa=fafee # @ o= a1 oo g 82
Ans X" 1 & gg e el dteT €l
o 2 A F Ram R T
X 3 i RRwdsra
/X 4. R s g gt

Question ID : 9767556491
Status : Answered
Chosen Option : 2

Q.40 ‘wRufty’ ereg & forg IfRra aramisar & -
Ans X" 1. S @RoIER A A g

/X 2. R 3g Uy

75 3. S ara RO 8

o 4. it eRorE A gt

Question ID : 9767556464
Status : Answered
Chosen Option : 4
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Q.41 ga= $i gt @ w9 91 g 71ea 82
Ans “‘].m—gt{

/X 2.7 -

7 3. Hif - ffvat

/X 4. araf - aafd

Question ID : 9767556479
Status : Answered
Chosen Option : 1

Q.42 ‘ASHUT FTIAAT NS & -
Ans X" 1 g Ta
75 2. Sfdarae ga
/X 3. cafharae g

( 4. qTadTdeh T

Question ID : 9767556442
Status : Answered
Chosen Option : 4

Q.43 ‘<RI 34T 82’ ATy J Uk AT T WE & -
Ans o 1 usyErEE wEAm

/X 2. Gdearaes g

/< 3. sifigaras gdam

/X 4. 3am qevarad adTm

Question ID : 9767556445
Status : Answered
Chosen Option : 1

Q.44 ‘Tatgg @ f frede & -
Ans  of 1 am+ag
5 2T+ g
XS,ERI+E[;<;
X4.a+aﬁg§

Question ID : 9767556435
Status : Answered
Chosen Option : 1
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Q.45 ‘St gl T ST 9eh' arerien & folg Geh U= & -
Ans X‘].(ﬂ'%;ﬁ'q

o 2 sty

/X 3. @

/X 4. st

Question ID : 9767556462
Status : Answered
Chosen Option : 2

Q.46 SitasF ADgd &, AuRsrfi gA g1 T TRE aTTFT & -
Ans  off 1. o Ted oRenl B3 &)

X 2. ed sa aRerf 13 €

75 3. uRem @i dheth e sd €1

/X 4. e o g1a & ok uReri 81 €1

Question ID : 9767556474
Status : Answered
Chosen Option : 1

Q.47 '9g el USHT SITQ I’ arery J q&Y & 9 & -
Ans X' 1 mem Ry

/X 2. gy

/X 3.3 gy

v 4 o= g

Question ID : 9767556481
Status : Answered
Chosen Option : 4

Q.48 udtat & odter urt sre a1 are § wg favtwor eree 3 -
Ans X" 1 udiern

o 2. ot
X 3.em
X 4o

Question ID : 9767556447
Status : Answered
Chosen Option : 2
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Q.49 ‘U%ATE - aTg’ A giH & Tl A W 1 997 fNfag -
Ans X 1. wgra - Riar

o 2 fiar-wem

/X 3.3%1-Tg

/X 4. ek - =

Question ID : 9767556461
Status : Answered
Chosen Option : 2

Q.50 wifgea 3R Sfiaw o1 G Haiy g1 arey | S7g WS T AT E?
Ans x 1.5

X 2.8k

75 3. @dy

o 4.5r

Question ID : 9767556490
Status : Answered
Chosen Option : 4

Q.51 HIT AT AF 'F YT A AF T8 ?
Ans X1 gum

23w

X 3gum

X 4. gen

Question ID : 9767556440
Status : Answered
Chosen Option : 2

Q.52 g Mfa fi gt - TR afyat mdt 81 aroa 7 F@ifera s1g @s 6 s1E Fia a1 2 em?
Ans  of 1. afeat

X 2.7

5 3.

X 4|

Question ID : 9767556489
Status : Answered
Chosen Option : 1
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Q.53 fais 2158 1 i< |1 7 7Ted 872
Ans X" 1. 3Ty - gAY

X 2. 3@ - o

o 3. s - e

75 4. 3EH - e

Question ID : 9767556457
Status : Answered
Chosen Option : 3

Q.54 i 41 faeheu sreftona TaTH 1 I3TER0T 87
Ans x 1. TgTe

o 2.

75 3. =

X 4. =g o

Question ID : 9767556436
Status : Answered
Chosen Option : 4

Q.55 Uehds &1 fasita @ -
Ans «1.3@3‘3{

X 2.

75 3. sRmda

X 4. B

Question ID : 9767556458
Status : Answered
Chosen Option : 1

Q.56 3fTT A8 ggd W g ¢| {ifehd AZ AT AAT WE & -
Ans X' 1 Tggars du

75 2. fharad @

75 3. vrgaras gw

o 4. ST @

Question ID : 9767556443
Status : Answered
Chosen Option : 2
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Q.57 4 & =1 fepedt a1 shre A TeTdTI STema BT WS & -
Ans X 1 ggeTEius

X 2. fua

o 3 St

/X 4. Rrfasior

Question ID : 9767556452
Status : Answered
Chosen Option : 2

Q.58 g g2 fepara forgaran &1 Y@ifera &1 frar A= & -
Ans X" 1 Tiges R

/X 2. TeRen frar

o 3. SRomfa R

/X 4. Amerg

Question ID : 9767556450
Status : Answered
Chosen Option : 2

Q.59 A i} - of R egerar &1 avera A ferarfasivor o1 9 8 -
Ans X' 1 wiearae B

/X 2. AT B
o 3. &faree Brfado
/X 4. uRmToETEe R Qror

Question ID : 9767556451
Status : Answered
Chosen Option : 3

Q.60 fa=fefa 7 & o= a1 are s 87
Ans  off 1. %% us af q@ 3T e 3t
/X 2. geira agd et 21
75 3.8 3 23 B STl
X 4. R @ @erg?

Question ID : 9767556492
Status : Answered
Chosen Option : 1
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Q.61
Ans

Comprehension:
fA=faf@a e ot ugs 3Tt I8t IR IS

B-R UBTS TR Fch RAT XA ST af GER-ITeR ISl Yeh--1-eh Skl v g1 Sfictt| BfEY AT 39 eqdfar & 1
3R TRATE A IgT IehRAT AT dg R Gar ofik gt 3 oft g Hid & 597 & g I § &g v
STt S T & A THAT| Afch = 7 ST Rt Yeh AT A8 Feht bl I U g gl S|
"JAATART @ Y e e U0 <hY &A1 &1 ST Hehfi? a8 UgTS & Iaren? fhdlt At ame & oft gz wehar 81
fRreATt & 1 O g YTt 3 A Re BT e 8, 79 1 R I8 ser S 8?7 581 At @
IMIMT T8 TRAV ToRI G Ueld <t 3R Tt gt anfdrat 2 3T Sifl @ gwst= 1 v fohar i
I8 U8 g agul fIaRl &t 79 & 9 A1 I- ‘9 9ed ¥ 9 & g g1 S gld @ 81 4fed & gg gawr
A T a1 8, T8 SUT ed § ot It A8t s’

SubQuestion No : 61
Treier oht I el & -

X1 s
X 2R
X 3. Rl ofk e
V 4 g@ el & R

Question ID : 9767556495
Status : Answered
Chosen Option : 4

Comprehension:

fA=faf@a e ot ugs 3Tt I8t IR IS

B-R UBTS WR Fch kAT X ST af GER-I TR ISl Yeh--1-eh Fchdt v g1 Siictt| BfEY 6T 39 edfar & a1
3R TRAT = g1 aeh RAT I dg R Gar ofik gt 3 oft g i § 597 & v a8 & Fg wWahv
TRt Y T & A THAT| AfhT 7 ST Rt Yk AT A8 Feht bl I U gE gt S|
"G & § el ek TTON 2h &M Y ST GehTii? g UgTS | Iaven fohdll AT &g # off g Fehal &1
AR & 99 T gE P 3 # TR U dar 8, 99 = Rt I Jevr darg? 321 faani 9
IMNIMT T8 TRAV ToRI G Ueld el 3R @t gt anfdrat 2 3T Sifal @ gusI= &1 W fohar i
g% U gl foaRi &t 79 # 7 A1g - ‘9T 98T § 9H & oy € = Eld @ 81 Afed & gg g
G T g1 8, T8 SUHT ed § st It AT sy’

SubQuestion No : 62

Q.62 fer=m<i @ siiquita 1 T ifdwura @2

Ans

W 1. o R A ok gl
X 2. %® fER 9 &R um
X 3. Reipet oft R 7 &
X 4. % qEe A I

Question ID : 9767556496
Status : Answered
Chosen Option : 1




Downloaded From : www.sforstudy.in

Comprehension:
fA=faf@a e ot ugsR 3Ud I8t IR IS

B-R UBTS TR Fch RAT IR ST af GER-ITeR ISl Yeh--1-eh Fchl v g1 Sfictt| AfEY 6T 39 efdfar & 1
3R TRATE 7 IgT Ieh RAT AT dg R §ar ofik gt 3 oft g Hid & 597 & g I § &g wWahv
STt S T & A THAT| Afch = 7 ST Rt Yeh AT A8 Feht bl I U UHE gl S|
‘AR @ Y e e U0 <hY &1 &1 ST HehM1? a8 UsTS & Iaen? fhdlt At ame # oft gz wehra1 81
fRerTt & 1 I g Y7t 3 A Re BT e 8, 79 1 R I8 IR S 8?7 381 At @
IMIMT T8 TRAT ToRI § ueld ot 3R Tt gt | anfdrat 2 3T Sifal @ gwst= 1 v fohar i
I8 U8 g agul fIaRl &Y 79 & 9 A1 - ‘9 9ed ¥ 9 & g g1 S gld @ 81 4fed & gg gawr
A T o1 8, T8 SUHT e d § &t It gt s’

SubQuestion No : 63
Q.63 Af3d & Hg T T T AT 1A &?

Ans o 1. 3RA ) s Ral &1 Hig @A Y sred T
X 2. 43 &1 ReR a1 oYe 21
/X 3. A &g et g
X 4 AR w7

Question ID : 9767556498
Status : Answered
Chosen Option : 1

Comprehension:

fA=fafaa e ot ugs 3Td I8t 3w IS

B-R UBTS TR Fch kAT X ST af GER-ITeR ISl Yeh--1-Yeh qchdt v g1 Sfictt| AfEY AT 39 eqdfar & a1
3R TRAT = g1 aeh RAT AT dg R Gar ofik gl 3 oft g Hid @ 597 & o a8 § &g wWahv
TRt Y T & A THAT| AfehT 7 ST Rt Yk AT A5 Feht bl I U UE gt S|
"HGTITE & § Rl ek TTON 2h &M Y ST Gehfi? g UgTS | Iaxen fehdll At ars # of g Tl g1
AR & 99 T gE P 3 § TR Bur dar 8, 99 w1 Rt I aevr darg? 321 faani 9@
IMNIMT T8 TRAV ToRI § Ueld ot 3R @t gl anfdrat 2 3T Sifal § gust= 1 W fohar i
I8 U gl foaRi &t 79 # 7 A1g - ‘9T 98T § 9 & oy € = Eld @ §1 Afed & gg g
T T g1 8, T8 SUHT ed § st It AT sy’

SubQuestion No : 64
Q.64 weriar # foret o gt waT 82

Ans X 1 R
W 2 aRua

p R:CIECTED
X 4 gwiai @

Question ID : 9767556494
Status : Answered
Chosen Option : 2
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Q.65
Ans

Comprehension:

fA=fafaa e ot ugs 3Td I8t IR IS

B-R UBTS TR Fch RAT XA ST af GER-ITeR ISl Yeh--1-eh Skl v g1 Sfictt| BfEY AT 39 eqdfar & 1
3R TRATE A IgT IehRAT AT dg R Gar ofik gt 3 oft g Hid & 597 & g I § &g v
STt S T & A THAT| Afch = 7 ST Rt Yeh AT A8 Feht bl I U g gl S|
"STATIRY & & ha deh UTOT ehl IETT hl ST TehT1? I8 UGTS U IaXh fh ! st are & oft g Fepar g1
feATt & 1 O g Y7 3 A Re BT el 8, 79 1 R I8 se S 8?7 581 At @
IMIMT T8 ERAY ToRI G Ueld ot 3R @t gt | anfdrat 2 3 Sifal @ gHst= o1 W fohar i
I8 U8 g agul fIaRl &Y 79 & 9 A1 I- ‘9 98 ¥ 9 & g g1 S gld @ 81 4fed & gg gawr
A T a1 8, T8 SUHT ed § s+t It A8t s’

SubQuestion No : 65
qTgh T AA @ -

F G

X 2. R

of 3. ok

X 4. s

Question ID : 9767556497
Status : Answered
Chosen Option : 3

Comprehension:

fA=fafaa e ot ugs 3Tt I8t IR IS

T 519 R &7l IR ugd, 99 3R aRFEdT ok aRERS] # Si:gT o1 SaR- 91 IAS 11| I AT- Atha
TS ST HIAT UGATS T8, ShR- el T TST- AT E1ehT o 7, ©ff T THIE ST STeiiehz STRelt SRt
TS 3R IY &t - v R T | IGRT AR gt MRIFAY A1 k7| U g, 39 Yut- ST b1 39
TR T I9TE UST U] I Fgd U9 ST UST| ITehT TS IHchTert 3R el Siial & STeT STRet o §1- ehl
&t ufawfora gt iRafem e ft, aa o3 19 1 ¥ 811 o1 ST usT, S 3 & STeft fiwa areft @igr
R frdt 3 3 <R yared s Ry &l

TRT aTedq & 9gd fUaee off, fAwa: Iueh srrell foreeiiy il a1 avet Hiad af gfe ol arerenz R &3
T Tl TS Isoad 7Y SR & O A ool §U I TE@ IR A1 I A Aol 5Tl & 81 o GAM et off|
I8 Uk SIRAT Iy T o1ar I T Tl

SubQuestion No : 66

Q.66 fragefa &t ardg -

Ans

X 1. S ara e g
X 2. e & D gt
o 3 siiErddae
75 4. 52w § aiftg g

Question ID : 9767556503
Status : Answered
Chosen Option : 3
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Q.67

Ans

Comprehension:
fA=fafaa e ot ugs 3Td I8t IR IS

T 519 MR &7l R ugd!, 99 3R aRFEdT 3R aRERG]T # S:gT ol SaR- 91 IAS 1T| I AT- Atha
TS chY HTEAT UgTE TS, haR- el T SreT- I SRt o T, ©ff ot T SR S SRt Iart
TS 3R I &t - UST FRIeTmaT T | IFRT AR T gt TRIFA a1 RT| U g, 9 Yut- Sr T b7 39
TR T I9TE UST U] I8 Fgd U9 ST UST| ITehT ST IrchIel R dTelt Sifal & STeT STRet o §1- ehl
&t ufawfera gt iRafiem e ft, a9 o3 19 1 ¥ 811 o1 ST UST, S 3 | STefl fiwa areft @igr
R frdt 3 =3 <1 yargd s Ry &l

TRT aTeae # 9gd {Uaee off, fAwa: Iueh! srtel! foreeiiy Al a1 avet Hiad af gfe &l dleenz R &3
T o1l S Isoad " SR & T # ool §U A T IR A1 I A Aol 5Tl & ST o GA et off|
I8 T ST fAsyT T Tar g T ATl

SubQuestion No : 67
gf¥fRat ofik ufvanl & sigr o1 SarR &1 wa ITS STAT?

X 1. Y ATl U AR )R
X 2. d SR W

/X 3.7 & @ W

W 4 EE R R ugR W

Question ID : 9767556500

Status : Answered

Chosen Option : 4

Q.68

Ans

Comprehension:

fR=fofeEa e Y gw 3T gt 3R I

T 519 R STt IR ugd, 99 TR aRRET ok uRaRE] § 2igl o1 SaR- 91 39S 11| IY A1e- Atha
TS chY HIEAT UG TS TS, HhIR- et T TST- T 1T e 7, ©ff o1 T S STeireh? SRt Iart
TS 3R I & - UST eI 77| ST ATHR T0T §AT TRITIT AT TRT| TT A& T, 39 GolT- T T 39
TR T T UST U I8 Fgd U ST UST | ITchT St THehTelt 3R helt sifa & STer St & <1 <Y
ot ufaw o gt e o ft, a9 &3 1Tl T Y9 811 o1 ST UST, S 3 & STefl f@a areft aigr
R fhdt 3 »2 13 varfga &= Ry &l

TRT aTeda & 9gd flaee off, faQva: Iueh! srtelt foreeiiy il 1 avet Hiad ot gfe ot aferen R &R
ST T TS Isoad AT R e Aid # &l §Y @ 7@ UR AN It H Aiel STcT o Sl oh FH oRTe o |
I8 U ST fIyTe T 9Ta g T AT

SubQuestion No : 68
Treier &1 3fa i & -

1. g
75 2. PR

o 3.

X 4. el sifet areht

Question ID : 9767556501

Status : Answered

Chosen Option : 3
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Comprehension:
fA=faf@a e ot ugsR 3Ud I8t IR IS

T 519 MR &7l IR ugd!, a9 3R uRREdT ok uRERS] 7 S:gT sl SaR- 91 IAS 1111 I ATe- Atha
TS <hY HIEAT UgTE TS, haR- el T TeT- T 1Rt o i, ©ff o1 T R STereh SRt Iart
TS R I &t - ST e TaT | IFRT AR T g3t TRIFA a1 k7| U g, 9 Yui- ST b7 39
TR T I9TE UST U I8 Fgd U9d ST UST| ITehT IS IHchTel R dTelt Siial & STeT STRet o §1- ehl
&t ufafora gt iRafiem e ft, a9 &3 14 T Y9 811 o1 ST UST, S 1 | STefl fiwa areft eigr
R ot 3 3 <1 yargd s Ry &l

TRT aTeaq # 9gd {Uaee off, fAwa: Iueh srtel! foreeiiy il a1 avet Hiad a gfe el dleenz R &
T Tl S Isoad 7Y SR & O # ool §U A TE@ IR A1 I A Aol 5Tl & Sl o GA et off|
I8 T ST fIsyT T Tar g T ATl

SubQuestion No : 69
Q.69 TEILT & ATHYTR U M fohyg wertR hY Mg A2

Ans o 1. tiRr e & wga € ger aun s ves ot
X 2. 7R yaaw g g o
X 3.1 agd Feht ot
X 4.1 S8 - wed ot

Question ID : 9767556504
Status : Answered
Chosen Option : 1

Comprehension:

fR=fofEa e Y eh 3T gt 3R I

T 519 R &Tet IR ugd, 99 TR aRRET ok uRaRE] § 9igl &1 SaR- 91 39S 11| IY A1e- Atha
TS chY HIEAT UG TS TS, HhR- et T ST I 1T e 7, ©ff o1 T S STeireh? SRt Iart
TS 3R I 351 - UST Tt 77| IHeRT AT G311 TRIFT AT T7RT| U1 18], $H YoTT- ST T 39
TR T TG UST U I8 Fgd U ST UST| ITchT St THehTelt 3R hTelt sifa & Sfer St & <1 <Y
ot ufawford gt Brafem o ft, a9 &3 1Tl &1 Y9 811 o1 ST UST, S 3 & STefl f@a areft @igr
R fhdt 3 &2 13 varfga &= Ry &l

TRT aRea # 9ga e of, faivd: 35! sl feeiiy sifal &1 avet digd ot gfE @i afeenz R &
ST T TS Isoad A R o Gid J &ol §Y T @ UR AT a0 H Aiel STcT o Sl oh FH oiTa o |
I8 U ST fIyT T 9T @ T AT

SubQuestion No : 70
Q.70 T3 3 A e/l S ugl?

Ans « 1. Fifh ITRT G WTd- TR G AT
X 2. il ag e & e g off
75 3. i a8 A R are e < off
X 4. il 38 @ e e a1

Question ID : 9767556502
Status : Answered
Chosen Option : 1

Section : General English
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Q.1 Select the most appropriate option to fill in the blank.

Our boat was exactly _______ the bridge when the train passed onit.
Ans X 1.inside

x 2. over
X 3. above
(4.under

Question ID : 9767556527
Status : Answered
Chosen Option : 4

Q.2 Parts of the following sentence are given as options. Identify the part that
contains a grammatical error.

Robinson Crusoe was puzzled to seeing a footprint on the sand on the lonely island.
Ans X" 1. on the sand

( 2.to seeing a footprint
x 3. on thelonely island

X 4. Robinson Crusoe was puzzled

Question ID : 9767556507
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate option to substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution
required’.

What did you lose your purse - in the bus or in the office?

Ans x 1. No substitution required
X 2. How
75 3.When
( 4. Where

Question ID : 9767556539
Status : Answered
Chosen Option : 4
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Q.4

Ans

Select the most appropriate indirect form of the given sentence.

| said to my friend, “Let’s take a room in the hostel, for we are wasting a lot of time
in commuting.”

x 1. l asked my friend if we could take a room in the hostel, for we were wasting a lot of
time in commuting.

J 2.1 proposed to my friend that we should take a room in the hostel, for we were
wasting a lot of time in commuting.

X 3. I requested my friend to take a room in the hostel, for we were wasting a lot of time
in commuting.

x 4.1advised my friend that we should take a room in the hostel, for we are wasting a
lot of time in commuting.

Question ID : 9767556521
Status : Answered
Chosen Option : 2

Q.5

Ans

Select the most appropriate phrase to fillin the blank.

It was a serious offence, but hewas ____________ with a warning.

of 1. letoff
x 2. let aside
75 3. let down
x 4. let into

Question ID : 9767556559
Status : Answered
Chosen Option : 1

Q.6

Ans

Select the most appropriate direct form of the given sentence.

| assured my parents not to worry about me as | could take care of myself.
x 1. “Don't worry about yourself. | can take care of myself,” | told my parents.

x 2. “Don't worry about me. | can take care of yourself,” | said to my parents.

x 3. “Why should you worry about me? | can take care of myself,” | requested to my
parents.

J 4. "Don't worry about me. | can take care of myself,” | said to my parents.

Question ID : 9767556525
Status : Answered
Chosen Option : 4




Downloaded From : www.sforstudy.in

Q.7 Given here are six sentences. S1 and S6 are the first and the last sentences. The
rest of the sentences namely A, B, C and D are jumbled. Select the option that gives
their correct order.

S1.1n 1862, Edison rescued a three-year-old from a track where a boxcar was about
to rollinto him.

A. The grateful father, JU MacKenzie, taught Edison railroad telegraphy as a reward.
B. Between 1863 and 1867, Edison migrated from city to city in the United States
taking available telegraph jobs.

C. That winter, he took a job as a telegraph operator in Port Huron.

D. In the meantime, he continued his scientific experiments on the side.

S6. In 1868, Edison moved to Boston where he worked in the Western Union office
and worked even more on his inventions.

Ans X' 1. CADB

#< 2.ADBC
o 3.ACDB
75 4.DCBA

Question ID : 9767556536
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate synonym of the given word.

ACCUSE
Ans X 1 authorise

« 2. blame
x 3. shout
X 4. approve

Question ID : 9767556545
Status : Answered
Chosen Option : 2

Q.9 Given here are four jumbled sentences. Select the option that gives their correct
order.

A. Now, Mrs. Balter, who is 58 years old, is devoting her efforts to helping improve
the hospital.

B. She has since then worked with psychiatric patients, given lectures around the
country and written an autobiography.

C. She was released in 1966 and went back to school.

D. Marie Balter was 16 and clinically depressed when she was diagnosed as
schizophrenic and sent to Danvers State Hospital.

Ans  of 1.DCBA

75 2.ABCD
/< 3.ABDC
75 4.DBAC

Question ID : 9767556533
Status : Answered
Chosen Option : 1
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Q.10 Given here are four jumbled sentences. Select the option that gives their correct
order.

A. We literally spent every day on the beach and what a beach!

B. There was a ruined castle on the cliffs: everyone said it was very interesting and
well worth seeing.

C. Over a mile of soft, clean, golden sand set in the curve of the bay and with
spectacular cliffs on each side.

D. We promised ourselves that we'd visit it but, somehow, we never got around to it.

Ans X' 1. CDAB

75 2.ABCD
75 3.BCDA
o 2.AcBD

Question ID : 9767556532
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate synonym of the given word.

INDUCE
Ans J 1. cause

x 2. control
X 3. repel
x 4. hinder

Question ID : 9767556548
Status : Answered
Chosen Option : 1

Q.12 Select the correct passive form of the given sentence.

My grandfather wrote this letter fifty years ago.
Ans x 1. My grandfather has written this letter fifty years ago.

X 2. This letter was being written by my grandfather fifty years ago.
x 3. This letter has been written by my grandfather fifty years ago.

( 4. This letter was written by my grandfather fifty years ago.

Question ID : 9767556510
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate meaning of the given idiom.

On cloud nine

Ans X 1. To be away from reality
x 2.To beout of date

( 3. To be blissfully happy
x 4.To be crazy

Question ID : 9767556563
Status : Answered
Chosen Option : 3
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Q.14 Select the most appropriate ANTONYM of the given word.

PROSECUTE
Ans ( 1. acquit

x 2.accuse
X 3. charge
x 4. execute

Question ID : 9767556555
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate indirect form of the given sentence.

The air hostess said, “The aircraft will be taking off in a few minutes.”

Ans X 1. The air hostess informed the aircraft was taking off in some minutes.
x 2. Theair hostess informed if the aircraft would be taking off in some minutes.
X 3. Theair hostess informed that the aircraft will be taking off in a few minutes.

J 4.The air hostess informed that the aircraft would be taking off in a few minutes.

Question ID : 9767556519
Status : Answered
Chosen Option : 4

Q.16 Parts of the following sentence are given as options. Identify the part that
contains a grammatical error.

Ten universities in the country is being audited for their academics, research,
finance and infrastructure.

Ans X 1. finance and infrastructure
x 2. academics, research
J 3. Ten universities in the country is

x 4. being audited for their

Question ID : 9767556509
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate option to substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution
required’.

He felt annoyed with it self when he saw what had happened due to his ignorance.
Ans X 1. oneself

x 2. herself

X 3. No substitution required

J 4. himself

Question ID : 9767556541
Status : Answered
Chosen Option : 4
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Q.18 Given here are four jumbled sentences. Select the option that gives their correct
order.

A. She went on to spend over a year in Jordan's Za'atari refugee camp, which housed
almost 80,000 Syrian refugees.

B. Fleeing war-torn Syria with her family in 2013, Muzoon Almellehan's main concern
was that she would be able to keep up her education, taking school books as her
only belongings.

C. The Almellehan family was resettled in Britain in 2015, and today she is known as
"Syria's Malala" for her work on education.

D. There she was able to attend school regularly and tried to encourage other girls
to do the same.

Ans X' 1 CBDA

/5 2.cADB
o 3.BADC
/5 4.BCDA

Question ID : 9767556535
Status : Answered
Chosen Option : 3

Q.19 Parts of the following sentence are given as options. Identify the part that
contains a grammatical error.

My dog, who is an pure Alsatian, is very quiet and clever.
Ans o 1. whois an pure Alsatian

X 2. My dog

x 3. and clever

x 4.is very quiet

Question ID : 9767556505
Status : Answered
Chosen Option : 1

Q.20 Parts of the following sentence are given as options. Identify the part that
contains a grammatical error.

To my point of view his action against the employees was wrong and thoughtless.
Ans X" 1. the employees

« 2. To my point of view
X 3. was wrong and thoughtless

x 4. his action against

Question ID : 9767556508
Status : Answered
Chosen Option : 2
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Q.21 Select the most appropriate synonym of the given word.

LAMENT
Ans x 1. relieve

J 2. grieve

X 3. celebrate

x 4. praise

Question ID : 9767556546
Status : Answered
Chosen Option : 2

Q.22 Select the most appropriate phrase to fill in the blank.

In a reality show, the participant became so sentimentalthat he ________ while
talking.

Ans X" 1. got down
J 2. broke down

x 3. put down
x 4. cut down

Question ID : 9767556561
Status : Answered
Chosen Option : 2

Q.23 Select the correct active form of the given sentence.

Let the patient be given medicine every three hours.

Ans x 1. Medicine needs to be given to the patient every three hours.

J 2. Give the medicine to the patient every three hours.
X 3. Medicine is given to the patient every three hours.

x 4. Medicine was given to the patient every three hours.

Question ID : 9767556516
Status : Answered
Chosen Option : 1

Q.24 Select the most appropriate option to fill in the blank.
They have finished the work,______ ?

Ans X" 1isit

x 2. have they

x 3.wasn'tit

J 4. haven't they

Question ID : 9767556530
Status : Answered
Chosen Option : 4




Downloaded From : www.sforstudy.in

Q.25 Select the most appropriate synonym of the given word.

SEIZE
Ans x 1. liberate

x 2. free
J 3.grab
x 4. release

Question ID : 9767556544
Status : Answered
Chosen Option : 3

Q.26 Select the most appropriate option to fill in the blanks.

good breakfast givesus all ______ energy we require.

Ans X" 1. No word required, a

o 2. A the
x 3.A an

x 4.The, no word required

Question ID : 9767556526
Status : Answered
Chosen Option : 2

Q.27 Select the most appropriate phrase to fill in the blank.

The two children
Ans X" 1. get over

x 2. get off
x 3. get at
J 4. get along

very well.

Question ID : 9767556557
Status : Answered
Chosen Option : 4

Q.28 Select the correct active form of the given sentence.

The strike will be called of f by the workers tomorrow.

Ans x 1. The workers are calling off the strike tomorrow.
x 2. The workers will have called off the strike tomorrow.
J 3. The workers will call off the strike tomorrow.

x 4. The workers will be calling off the strike tomorrow.

Question ID : 9767556514
Status : Answered
Chosen Option : 4
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Q.29 Select the correct passive form of the given sentence.

We can now remove the Diwali lights from the terrace.

Ans X 1. The Diwali lights have now been removed from the terrace.
( 2. The Diwali lights can now be removed from the terrace.
X 3. The Diwali lights could now be removed from the terrace.

x 4. The Diwali lights are now being removed from the terrace.

Question ID : 9767556511
Status : Answered
Chosen Option : 3

Q.30 Select the most appropriate ANTONYM of the given word.

TRANQUIL
Ans « 1. excited

x 2.tame
X 3. peaceful

x 4. gentle

Question ID : 9767556553
Status : Answered
Chosen Option : 2

Q.31 Given here are six sentences. S1 and S6 are the first and the last sentences. The
rest of the sentences namely A, B, C and D are jumbled. Select the option that gives
their correct order.

S1. SriLankan Tamil refugees have arrived in the southern Indian state of Tamil
Nadu at various times.

A. Currently more than 62,000 Tamil refugees live in 107 camps spread throughout
Tamil Nadu, and just under 37,000 refugees live outside the camps.

B. Some arrived 30 years ago, others at the peak of the SriLankan civil war in the
mid-2000s.

C. Consequently, these refugees consider themselves in limbo, belonging neither to
SriLanka nor to India and unable to get on with their lives.

D. Although refugees are entitled to residence visas and work permits, prolonged life
in the camps does not lead to resilience and empowerment.

S6. Tamil refugees - especially youth — wish to be disassociated with the label of
‘refugee’, which they feel would improve quality of life for them, their families and
their communities.

Ans X' 1 ABCD

75 2.CDAB
o 3.BADC
/5 4.BDAC

Question ID : 9767556538
Status : Answered
Chosen Option : 3
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Q.32 Select the most appropriate ANTONYM of the given word.

AMIABILITY
Ans X 1. congeniality

x 2. sociability
( 3. hostility

75 4. affability

Question ID : 9767556556
Status : Answered
Chosen Option : 1

Q.33 Select the most appropriate meaning of the given idiom.

Through thick and thin
Ans X" 1. During summer time

x 2. At the last moment
X 3. In difficult times

J 4. Under all circumstances

Question ID : 9767556565
Status : Answered
Chosen Option : 4

Q.34 Given here are four jumbled sentences. Select the option that gives their correct
order.

A. It rained incessantly.

B. The accommodation in the dreary hotel

was comfortless, the food unexciting and drinking on one’s own was no fun either.
C. Even when it stopped for a while the sky remained overcast, so that Tom's mood
gradually became as gloomy as the weather.

D. Tom decided that this was a waste of a much-longed-for holiday.

Ans X' 1.DBCA

/< 2.ADBC
o 3.ACBD
/5 4.CBDA

Question ID : 9767556531
Status : Answered
Chosen Option : 3

Q.35 Select the correct passive form of the given sentence.

Show me your report card.

Ans X 1. You should show me your report card.
x 2. Your report card has been shown to me.
( 3. Let your report card be shown to me.

x 4. You may show me your report card.

Question ID : 9767556513
Status : Answered
Chosen Option : 3
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Ans

Q.36 Select the most appropriate option to fill in the blank.

Do youmind ________ I borrow your book for a week?

75 1. that

X 2. whether
o 3if
X 4.unless

Question ID : 9767556529
Status : Answered
Chosen Option : 3

Ans

given sentence. If there is no need to substitute it, select ‘No substitution
required’.

Q.37 Select the most appropriate option to substitute the underlined segment in the

You can be exempted from the games only if you produce a medical certificate.

J 1. No substitution required
X 2. when you are producing
X 3. while you produce

X 4. if you are producing

Question ID : 9767556542
Status : Answered
Chosen Option : 1

Q.38 Select the most appropriate meaning of the given idiom.

Part and parcel

Ans

I am grateful to my teacher who persistently ________ for poor spelling.
x 1. pulled me under

x 2. pulled me off
x 3. pulled me over

J 4. pulled me up

Ans J 1. An essential part

x 2. An extra part

x 3. An external part

x 4. An unnecessary part

Question ID : 9767556562
Status : Answered
Chosen Option : 1

Q.39 Select the most appropriate phrase to fill in the blank.

Question ID : 9767556558
Status : Answered
Chosen Option : 2
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UNWIELDY
Ans x 1. inconvenient

( 2. graceful

X 3. awkward

x 4. cumbersome

Q.40 Select the most appropriate ANTONYM of the given word.

Question ID : 9767556554
Status : Answered
Chosen Option : 2

Q.41 Select the most appropriate synonym of the given word.

BENEVOLENCE
Ans ( 1. charity

x 2. cruelty
x 3. politeness
x 4. selfishness

Question ID : 9767556550
Status : Answered
Chosen Option : 2

Q.42 Select the correct active form of the given sentence.

The dog should not be given anything to eat.
Ans J 1. Don't give the dog anything to eat.

x 2. Let the dog be not given anything to eat.
x 3. You cannot give the dog anything to eat.

x 4. You are advised not to give the dog anything to eat.

Question ID : 9767556517
Status : Answered
Chosen Option : 1

Q.43 Select the correct direct form of the given sentence.

Mazy said to John that all that sounded awfully risky.
Ans ( 1. Mazy said to John, "All this sounds awfully risky."

x 2. Mazy said to John, "All this sounded awfully risky."
X 3. Mazy said to John, "All that sounded awfully risky."

x 4. Mazy said to John, "All that sounds awfully risky."

Question ID : 9767556523
Status : Answered
Chosen Option : 1
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Q.44 Given here are four jumbled sentences. Select the option that gives their correct
order.

A. Around the age of twelve, Edison lost almost all his hearing.

B. Some attribute it to the aftereffects of scarlet fever which he had as a child.
C. There are several theories as to what caused his hearing loss.

D. Others blame it on a conductor boxing his ears after Edison caused a fire in the
baggage car.

Ans X' 1.CDAB

/< 2.BCDA
o 3.ACBD
/5 4.ADCB

Question ID : 9767556534
Status : Answered
Chosen Option : 3

Q.45 Select the most appropriate option to fill in the blank.

Don't take this medicine. It
Ans X 1. is expiring
x 2. expires
( 3. has expired

x 4. expire

Question ID : 9767556528
Status : Answered
Chosen Option : 3

Q.46 Select the most appropriate phrase to fill in the blank.

Don't ________ your child from this school. It is a good school.
Ans J 1. take away

x 2. take up

X 3. take off
x 4.take down

Question ID : 9767556560
Status : Answered
Chosen Option : 1

Q.47 Select the most appropriate direct form of the given sentence.

Rahul told me that he had made all the travel arrangements himself.

Ans J 1. Rahul said to me, “I have made all the travel arrangements myself.”
X 2. Rahul said to me, “He has made all the travel arrangements myself.”
x 3. Rahul said to me, “I have made all the travel arrangements himself.”

X 4. Rahul asked me, “You have made all the travel arrangements yourself.”

Question ID : 9767556522
Status : Answered
Chosen Option : 1
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Q.48 Select the most appropriate indirect form of the given sentence.

The teacher said to Neha, “How did you guess the correct answer?”

Ans x 1. The teacher asked Neha that how you guessed the correct answer.
x 2. The teacher asked Neha if she had guessed the correct answer.
X 3. The teacher asked Neha how did you guess the correct answer.

J 4. Theteacher asked Neha how she had guessed the correct answer.

Question ID : 9767556518
Status : Answered
Chosen Option : 4

Q.49 Select the most appropriate direct form of the given sentence.

She said that those children had given her a pleasant surprise the previous day.

Ans x 1. She said, “T hese children had given her a pleasant surprise the previous day.”

x 2. She said, “Those children will give me a pleasant surprise today.”
J 3. She said, “These children gave me a pleasant surprise yesterday.”

x 4. She said, “These children are giving me a pleasant surprise tomorrow.”

Question ID : 9767556524
Status : Answered
Chosen Option : 3

Q.50 Select the most appropriate indirect form of the given sentence.

“Thank you for the most wonderful week,” said Prachi to her friend.

Ans X" 1. Prachi thanked her friend and said what a wonderful week she had.
J 2. Prachi thanked her friend for the most wonderful week.
x 3. Prachi thanked her friend and told her she has had a wonderful week.

x 4. Prachi said to her friend thank you for the most wonderful week.

Question ID : 9767556520
Status : Answered
Chosen Option : 3

Q.51 Select the most appropriate synonym of the given word.

SPECULATE
Ans J 1. contemplate

x 2. neglect
X 3. dismiss
x 4. forget

Question ID : 9767556549
Status : Answered
Chosen Option : 1
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Q.52 Select the most appropriate option to substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution
required’.

If we look deep on this stories, there is a lot of wisdom in them.

Ans  off 1 into these stories

X 2. No substitution required
x 3.in this stories

X 4. on these stories

Question ID : 9767556540
Status : Answered
Chosen Option : 1

Q.53 Given here are six sentences. S1 and S6 are the first and the last sentences. The
rest of the sentences namely A, B, C and D are jumbled. Select the option that gives
their correct order.

S1. Marie Balter began life in the winter of 1931, born in Gloucester, Mass., to a
penniless alcoholic who gave her up at birth.

A. That, of course, was only the beginning.

B. Stern and rigid, they disciplined Marie by locking her in the dark, cold cellar or tying
her to a post or to the stairs.

C. She lived in foster homes until she was adopted at 6 by an aging Italian-born
couple who spoke no English.

D. If she wasn't home before the street lights came on, they would lock her out all
night.

S6. Eventually, she fled from them, seeking shelter at a convent.

Ans X' 1. ABCD

/< 2.BDCA
/< 3.cDAB
o 4.ACBD

Question ID : 9767556537
Status : Answered
Chosen Option : 4

Q.54 Select the correct active form of the given sentence.

Who has been invited to inaugurate the function?

Ans X 1. Who are they inviting to inaugurate the function?
x 2. Who did they invite to inaugurate the function?
« 3. Whom have they invited to inaugurate the function?

x 4. Whom will they invite to inaugurate the function?

Question ID : 9767556515
Status : Answered
Chosen Option : 3
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Q.55 Select the most appropriate option to substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution
required’.

This is one of the five books that was launch yesterday at the Vigyan Bhawan.

Ans X 1. that were launch
x 2. No substitution required
x 3. that was launched

( 4.that were launched

Question ID : 9767556543
Status : Answered
Chosen Option : 4

Q.56 Parts of the following sentence are given as options. Identify the part that
contains a grammatical error.

She died of illness that she recently has.
Ans X' 1. she died

x 2. of illness
J 3. recently has
x 4.that she

Question ID : 9767556506
Status : Answered
Chosen Option : 3

Q.57 Select the most appropriate ANTONYM of the given word.

DENY
Ans J 1. accept

x 2. refuse
x 3. bring
x 4. give

Question ID : 9767556551
Status : Answered
Chosen Option : 1

Q.58 Select the correct passive form of the given sentence.

Keep to the left of the road.
Ans x 1. want you to keep to the left of the road.

J 2. You are advised to keep to the left of the road.
x 3. You may keep to the left of the road.

x 4. Left of the road needs to be kept.

Question ID : 9767556512
Status : Answered
Chosen Option : 2
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Q.59 Select the most appropriate meaning of the given idiom.

Lose ground

Ans x 1. Acquire power
x 2. Deeply engraved
X 3. Continue as before

“ 4. Become less acceptable

Question ID : 9767556564
Status : Answered
Chosen Option : 4

Q.60 Select the most appropriate meaning of the given idiom.

To take to task

Ans  off 1 To criticize someone
x 2. To make efforts
x 3.To haveinsight

x 4.To gain something

Question ID : 9767556566
Status : Answered
Chosen Option : 2

Q.61 Select the most appropriate synonym of the given word.

DISPERSE
Ans X 1. unite

x 2. gather
75 3. hide
J 4. scatter

Question ID : 9767556547
Status : Answered
Chosen Option : 4

Q.62 Select the most appropriate ANTONYM of the given word.

DELICATE
Ans J 1. tough

x 2. graceful
X 3.smooth
x 4. fragile

Question ID : 9767556552
Status : Answered
Chosen Option : 4
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Comprehension:
Read the following passage and answer the questions given after it.

A Hindu temple, believed to have been constructed 1,300 years ago, has been discovered by
Pakistani and Italian archaeological experts at a mountain in northwest Pakistan’s Swat
district. T he discovery was made during an excavation at Barikot Ghundai.

Announcing the discovery on November 19, 2020, Fazle Khaliq of Khyber Pakhtunkhwa
Department of Archaeology said that the temple discovered is of Lord Vishnu. It was built by
the Hindus 1,300 years ago during the Hindu Shahi period, he said.

The Hindu Shahis or Kabul Shahis (850-1026 CE) was a Hindu dynasty that ruled the Kabul
Valley (eastern Afghanistan), Gandhara (modern-day Pakistan), and present-day
northwestern India.

During their excavation, the archaeologists also found traces of cantonment and
watchtowers near the temple site. T he experts also found a water tank near the temple site
which they believe was used by the Hindus for bathing before worship.

Khalig said that Swat district is home to a thousand-year-old archaeological sites and the
traces of the Hindu Shahi period have been found for the first time in the area.

Dr. Luka, the head of the Italian archaeological mission, said this was the first temple of the
Gandhara civilisation discovered in Swat district.

Swat district is among the top 20 sites in Pakistan which is home to every kind of tourism
such as natural beauty, religious tourism, cultural tourism and archaeological sites.
Several places of worship of Buddhism are also situated in Swat district.

SubQuestion No : 63

Q.63 Which of the following areas was NOT a part of Shahi's empire?

Ans

( 1. Northeastern India
x 2. Pakistan
7% 3.Eastern Afghanistan

x 4. Northwestern India

Question ID : 9767556569
Status : Answered
Chosen Option : 1
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Ans

Comprehension:
Read the following passage and answer the questions given after it.

A Hindu temple, believed to have been constructed 1,300 years ago, has been discovered by
Pakistani and Italian archaeological experts at a mountain in northwest Pakistan’s Swat
district. T he discovery was made during an excavation at Barikot Ghundai.

Announcing the discovery on November 19, 2020, Fazle Khaliq of Khyber Pakhtunkhwa
Department of Archaeology said that the temple discovered is of Lord Vishnu. It was built by
the Hindus 1,300 years ago during the Hindu Shahi period, he said.

The Hindu Shahis or Kabul Shahis (850-1026 CE) was a Hindu dynasty that ruled the Kabul
Valley (eastern Afghanistan), Gandhara (modern-day Pakistan), and present-day
northwestern India.

During their excavation, the archaeologists also found traces of cantonment and
watchtowers near the temple site. T he experts also found a water tank near the temple site
which they believe was used by the Hindus for bathing before worship.

Khalig said that Swat district is home to a thousand-year-old archaeological sites and the
traces of the Hindu Shahi period have been found for the first time in the area.

Dr. Luka, the head of the Italian archaeological mission, said this was the first temple of the
Gandhara civilisation discovered in Swat district.

Swat district is among the top 20 sites in Pakistan which is home to every kind of tourism
such as natural beauty, religious tourism, cultural tourism and archaeological sites.
Several places of worship of Buddhism are also situated in Swat district.

SubQuestion No : 64

Q.64 The water tank found near the temple site was believed to be used by Hindus for:

K 1. storing water for drinking purpose
x 2. bathing the animals of the king's durbar
( 3. bathing before worship

x 4. agricultural purpose

Question ID : 9767556568

Status : Answered

Chosen Option : 3




Downloaded From

: www.sforstudy.in

Q.65

Ans

Comprehension:
Read the following passage and answer the questions given after it.

A Hindu temple, believed to have been constructed 1,300 years ago, has been discovered by
Pakistani and Italian archaeological experts at a mountain in northwest Pakistan’s Swat
district. T he discovery was made during an excavation at Barikot Ghundai.

Announcing the discovery on November 19, 2020, Fazle Khaliq of Khyber Pakhtunkhwa
Department of Archaeology said that the temple discovered is of Lord Vishnu. It was built by
the Hindus 1,300 years ago during the Hindu Shahi period, he said.

The Hindu Shahis or Kabul Shahis (850-1026 CE) was a Hindu dynasty that ruled the Kabul
Valley (eastern Afghanistan), Gandhara (modern-day Pakistan), and present-day
northwestern India.

During their excavation, the archaeologists also found traces of cantonment and
watchtowers near the temple site. T he experts also found a water tank near the temple site
which they believe was used by the Hindus for bathing before worship.

Khalig said that Swat district is home to a thousand-year-old archaeological sites and the
traces of the Hindu Shahi period have been found for the first time in the area.

Dr. Luka, the head of the Italian archaeological mission, said this was the first temple of the
Gandhara civilisation discovered in Swat district.

Swat district is among the top 20 sites in Pakistan which is home to every kind of tourism
such as natural beauty, religious tourism, cultural tourism and archaeological sites.
Several places of worship of Buddhism are also situated in Swat district.

SubQuestion No : 65

Which of the following statements about the temple that was found during
excavation is NOT true?

x 1. The temple was built 1300 years ago.
K 2. The temple belongs to the Gandhara civilization.
x 3. It was a Hindu temple.

( 4. Thetempleis of Lord Shiva.

Question ID : 9767556570
Status : Answered
Chosen Option : 4
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Ans

Comprehension:
Read the following passage and answer the questions given after it.

A Hindu temple, believed to have been constructed 1,300 years ago, has been discovered by
Pakistani and Italian archaeological experts at a mountain in northwest Pakistan’s Swat
district. T he discovery was made during an excavation at Barikot Ghundai.

Announcing the discovery on November 19, 2020, Fazle Khaliq of Khyber Pakhtunkhwa
Department of Archaeology said that the temple discovered is of Lord Vishnu. It was built by
the Hindus 1,300 years ago during the Hindu Shahi period, he said.

The Hindu Shahis or Kabul Shahis (850-1026 CE) was a Hindu dynasty that ruled the Kabul
Valley (eastern Afghanistan), Gandhara (modern-day Pakistan), and present-day
northwestern India.

During their excavation, the archaeologists also found traces of cantonment and
watchtowers near the temple site. T he experts also found a water tank near the temple site
which they believe was used by the Hindus for bathing before worship.

Khalig said that Swat district is home to a thousand-year-old archaeological sites and the
traces of the Hindu Shahi period have been found for the first time in the area.

Dr. Luka, the head of the Italian archaeological mission, said this was the first temple of the
Gandhara civilisation discovered in Swat district.

Swat district is among the top 20 sites in Pakistan which is home to every kind of tourism
such as natural beauty, religious tourism, cultural tourism and archaeological sites.
Several places of worship of Buddhism are also situated in Swat district.

SubQuestion No : 66

Q.66 Who collaborated with Pakistani archaeologists in the excavations?

75 1. shahi experts
x 2. Afghani experts
7% 3.Indian experts

( 4. ltalian experts

Question ID : 9767556571

Status : Answered

Chosen Option : 4
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Read the following passage and answer the questions given aWr\N.W.SfOrStUdy.i n

Nain Singh Rawat (1830-1882) was one of the 19th century Indian explorers who explored
the Himalayas for the British. He hailed from the Johar Valley of Kumaon. He is known to be
the first Indian explorer to survey Tibet, determine the exact location and altitude of Lhasa,
map the Tsangpo (Brahmaputra River) and also give the details of the gold mines of Thok
Jalung.

In his youth, Rawat left school and explored different centres in T ibet along with his father.
During his exploration, he became familiar with Tibetan people and learnt the language and
customs. Later, these same skills sets came handy when he worked as a ‘spy explorer'.

In 1855, Rawat was first recruited by German geographers, the Schlagintweit brothers to
explore and survey India. Rawat’s first exploration trip with the Germans was between 1855
and 1857, when he travelled to Lakes Manasarovar and Rakas Tal and then further to
Gartok and Ladakh.

In 1863, Nain Singh Rawat and his cousin, Mani Singh Rawat, were sent to the Great
Trigonometric Survey office in Dehradun where they underwent training for two years. T his
included training on the use of scientific instruments and ingenious ways of measuring and
recording and the art of disguise. T hey were drilled to take steps of a fixed length which
remained constant even while climbing up, down, or walking on a level surface. T hey were
trained to record the distances by counting their steps. A mile was calculated to be around
2,000 steps. To avoid suspicion, these explorers went about their task disguised as monks
or traders or whatever suited the situation.

Thus, prepared and trained, the explorers travelled for months at a stretch, collecting
intelligence under the most difficult conditions, travelling closely with the natives in
caravans. What was to follow were some of the most glorious years in the exploration and
mapping of Tibet and all its river systems.

In 1865-66, Nain Singh travelled 1200 miles from Kathmandu to Lhasa and then to Lake
Manasarovar and back to India.

On a second voyage, in 1867, Singh explored western Tibet and visited the legendary T hok
Jalung gold mines. He noticed that the workers only dug for gold near the surface, because
they believed digging deeper was a crime against the Earth and would deprive it of its
fertility.

His last and greatest journey was from Leh in Ladakh via Lhasa to Assam in 1873-75. For
his extraordinary achievements and contributions, Nain Singh was honoured with many
awards by the Royal Geographical Society.

SubQuestion No : 67
Q.67 Nain Singh had to disguise himself as a monk or trader mainly because:

Ans x 1. he was mapping the areas in the Himalayas
K 2. he was working for the British
x 3. he travelled with the natives in a caravan

( 4. he was collecting intelligence along with his exploration

Question ID : 9767556575
Status : Answered
Chosen Option : 4
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Ans

Comprehension:
Read the following passage and answer the questions given after it.

Nain Singh Rawat (1830-1882) was one of the 19th century Indian explorers who explored
the Himalayas for the British. He hailed from the Johar Valley of Kumaon. He is known to be
the first Indian explorer to survey Tibet, determine the exact location and altitude of Lhasa,
map the Tsangpo (Brahmaputra River) and also give the details of the gold mines of Thok
Jalung.

In his youth, Rawat left school and explored different centres in T ibet along with his father.
During his exploration, he became familiar with Tibetan people and learnt the language and
customs. Later, these same skills sets came handy when he worked as a ‘spy explorer'.

In 1855, Rawat was first recruited by German geographers, the Schlagintweit brothers to
explore and survey India. Rawat’s first exploration trip with the Germans was between 1855
and 1857, when he travelled to Lakes Manasarovar and Rakas Tal and then further to
Gartok and Ladakh.

In 1863, Nain Singh Rawat and his cousin, Mani Singh Rawat, were sent to the Great
Trigonometric Survey office in Dehradun where they underwent training for two years. T his
included training on the use of scientific instruments and ingenious ways of measuring and
recording and the art of disguise. T hey were drilled to take steps of a fixed length which
remained constant even while climbing up, down, or walking on a level surface. T hey were
trained to record the distances by counting their steps. A mile was calculated to be around
2,000 steps. To avoid suspicion, these explorers went about their task disguised as monks
or traders or whatever suited the situation.

Thus, prepared and trained, the explorers travelled for months at a stretch, collecting
intelligence under the most difficult conditions, travelling closely with the natives in
caravans. What was to follow were some of the most glorious years in the exploration and
mapping of Tibet and all its river systems.

In 1865-66, Nain Singh travelled 1200 miles from Kathmandu to Lhasa and then to Lake
Manasarovar and back to India.

On a second voyage, in 1867, Singh explored western Tibet and visited the legendary T hok
Jalung gold mines. He noticed that the workers only dug for gold near the surface, because
they believed digging deeper was a crime against the Earth and would deprive it of its
fertility.

His last and greatest journey was from Leh in Ladakh via Lhasa to Assam in 1873-75. For
his extraordinary achievements and contributions, Nain Singh was honoured with many
awards by the Royal Geographical Society.

SubQuestion No : 68

Q.68 Which place did Nain Singh Rawat belong to?

x 1. Shillong
(2. Kumaon
/X 3.Lladakh

75 4 Guwahati

Question ID : 9767556573

Status : Answered

Chosen Option : 2
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Comprehension:
Read the following passage and answer the questions given after it.

Nain Singh Rawat (1830-1882) was one of the 19th century Indian explorers who explored
the Himalayas for the British. He hailed from the Johar Valley of Kumaon. He is known to be
the first Indian explorer to survey Tibet, determine the exact location and altitude of Lhasa,
map the Tsangpo (Brahmaputra River) and also give the details of the gold mines of Thok
Jalung.

In his youth, Rawat left school and explored different centres in T ibet along with his father.
During his exploration, he became familiar with Tibetan people and learnt the language and
customs. Later, these same skills sets came handy when he worked as a ‘spy explorer'.

In 1855, Rawat was first recruited by German geographers, the Schlagintweit brothers to
explore and survey India. Rawat’s first exploration trip with the Germans was between 1855
and 1857, when he travelled to Lakes Manasarovar and Rakas Tal and then further to
Gartok and Ladakh.

In 1863, Nain Singh Rawat and his cousin, Mani Singh Rawat, were sent to the Great
Trigonometric Survey office in Dehradun where they underwent training for two years. T his
included training on the use of scientific instruments and ingenious ways of measuring and
recording and the art of disguise. T hey were drilled to take steps of a fixed length which
remained constant even while climbing up, down, or walking on a level surface. T hey were
trained to record the distances by counting their steps. A mile was calculated to be around
2,000 steps. To avoid suspicion, these explorers went about their task disguised as monks
or traders or whatever suited the situation.

Thus, prepared and trained, the explorers travelled for months at a stretch, collecting
intelligence under the most difficult conditions, travelling closely with the natives in
caravans. What was to follow were some of the most glorious years in the exploration and
mapping of Tibet and all its river systems.

In 1865-66, Nain Singh travelled 1200 miles from Kathmandu to Lhasa and then to Lake
Manasarovar and back to India.

On a second voyage, in 1867, Singh explored western Tibet and visited the legendary T hok
Jalung gold mines. He noticed that the workers only dug for gold near the surface, because
they believed digging deeper was a crime against the Earth and would deprive it of its
fertility.

His last and greatest journey was from Leh in Ladakh via Lhasa to Assam in 1873-75. For
his extraordinary achievements and contributions, Nain Singh was honoured with many
awards by the Royal Geographical Society.

SubQuestion No : 69

Q.69 Which area did Nain Singh Rawat explore the most in the Himalayas?

Ans

x 1. Nepal
of 2 Tibet
/X 3.Assam
/< 4.Ladakh

Question ID : 9767556576
Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage and answer the questions given after it.

Nain Singh Rawat (1830-1882) was one of the 19th century Indian explorers who explored
the Himalayas for the British. He hailed from the Johar Valley of Kumaon. He is known to be
the first Indian explorer to survey Tibet, determine the exact location and altitude of Lhasa,
map the Tsangpo (Brahmaputra River) and also give the details of the gold mines of Thok
Jalung.

In his youth, Rawat left school and explored different centres in T ibet along with his father.
During his exploration, he became familiar with Tibetan people and learnt the language and
customs. Later, these same skills sets came handy when he worked as a ‘spy explorer'.

In 1855, Rawat was first recruited by German geographers, the Schlagintweit brothers to
explore and survey India. Rawat’s first exploration trip with the Germans was between 1855
and 1857, when he travelled to Lakes Manasarovar and Rakas Tal and then further to
Gartok and Ladakh.

In 1863, Nain Singh Rawat and his cousin, Mani Singh Rawat, were sent to the Great
Trigonometric Survey office in Dehradun where they underwent training for two years. T his
included training on the use of scientific instruments and ingenious ways of measuring and
recording and the art of disguise. T hey were drilled to take steps of a fixed length which
remained constant even while climbing up, down, or walking on a level surface. T hey were
trained to record the distances by counting their steps. A mile was calculated to be around
2,000 steps. To avoid suspicion, these explorers went about their task disguised as monks
or traders or whatever suited the situation.

Thus, prepared and trained, the explorers travelled for months at a stretch, collecting
intelligence under the most difficult conditions, travelling closely with the natives in
caravans. What was to follow were some of the most glorious years in the exploration and
mapping of Tibet and all its river systems.

In 1865-66, Nain Singh travelled 1200 miles from Kathmandu to Lhasa and then to Lake
Manasarovar and back to India.

On a second voyage, in 1867, Singh explored western Tibet and visited the legendary T hok
Jalung gold mines. He noticed that the workers only dug for gold near the surface, because
they believed digging deeper was a crime against the Earth and would deprive it of its
fertility.

His last and greatest journey was from Leh in Ladakh via Lhasa to Assam in 1873-75. For
his extraordinary achievements and contributions, Nain Singh was honoured with many
awards by the Royal Geographical Society.

SubQuestion No : 70

Q.70 Match the words/phrases with their meanings.

a. hailed 1. rehearsed
b. disguised 2. covered up
c. drilled 3. came from

Ans X 1.a2,b3, ¢
W 2.a3,b2c1
X 3.a2,b1,c3
X 4.a1,b3,c2

Question ID : 9767556574
Status : Answered
Chosen Option : 2
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